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41.  Find out the miz-spelt word from the following phrase :
"An agressive bizarre businessman”
a b c d
(1 a 2 b B3y c 4 d
48,  Joya said to the girl, "Why are vou crying ¥
Point out the correct indirect narration.
(1) Joya said to the girl why she 18 crving,
(2]  Joya asked the girl why she was erying.
(3)  Jova inguired of the girl why was she erving.
(4] Joya asked the girl if she was erying.
43.  He had the nerve to face robbers all alone.
Choose the word nearest in meaning to the word underlined.
(1) satrength {2)  eapacity
(3} auwdacity (4] courage
44.  Shakespeare's Gertrude shed crocodile tears over King Hamlet's death.
It means
(1} Gertrude expressed her deep sorrow for King Hamiet’s death.
(2) Gertrude deeply lamented over the death of King Hamlet.
(3} Gertrude pretended to grieve the death of King Hamlet.
{4} Gertrude wept a lot for the loss of King Hamlet.
45.  The Sun having risen, the fog disappeared.
Identify the type of sentence.
(1) Simple (2)  Compound
(31 Complex (4)  Complex-compound
46,  She will have sung a song.

Pick out the correct passive voice of the sentence,
{1} A song will be sung by her. 2} A song will have been sung by her.
3} A song will be singing by her. (4) A song would have sung by her.
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They awarded her the Nobel Prize for her zocial work.

Point out the incorrect form of passive sentence,

(1} Faor her social work, the Nobel Prize was awarded to her.

(2}  The Nobel Prize was awarded to her, for her social work.

(3) She was awarded the Nobel Prize by them for her social work,
4}  None of these is incorrect

48,

If our are healthy in mind, they will treat our daughters properly.

Which of the following alternatives is correct ?
(11 Sons-in-laws (2) Son-in-law
{3} Sons-in-law {4} Son-in-laws

49,

Identifly the mood of the verb underlined.

Behold the dreamer comes.

(1)  Imperative {2) Subjunctive
(3}  Infinitive (4] Conditional

Which of the following sentences reflects the polite form of request 7

(1) 1shall be grateful if you allow me to use your hike for five minutes.
(2)  You can allow me to use your hike for five minutes.

(3) Would you mind using your bike for five minutes 7

(4)  Will vou allow me to uze your bike for five minutea 7

51.

Point out the correct sentence,

(1) The teacher of Geography hanged the map of India on the wall.
(2)  The teacher of Geography hung the map of India at the wall.

i#3)  The teacher of Geography hung the map of India on the wall.

(4) The teacher of Geography hanged the map of India over the wall.

True lovers stick to each other through thick and thin.

The meaning of this statement is

(1) True lovers cannot forget each other under any circumstances,

(2]  True lovers are faithful to each other when they are thick and thin.
(3} Ome of the true lovers must be thick and the other thin.

(4}  True lovers catch each other while going through the crowd.
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53.  The serious disease Small-pox nowadays has gone with the wind.

The meaning of this statement is
(1) The terrible wind has apread the Small-pox digease everywhere,
i2)  The serious disease Small-pox has widely spread the world over.

(31  The serious disease Small-pox has completely disappeared without trace.

(4) MNone of these

54. He is always picking holes in every project.
Pick out the correct meaning of the phrase underlined.

(1) Asking irrelevant questions on 2y  Buggesting improvement in
(3)  Finding fault with {4}  Creating problems in
55. Inthe desert the of water is as precious as gold.
Pick out the correct alternative to complete the sentence,
(1) draft {2y draught
(3}  drought (4} drauft

B8.  Pick out the correct word-group where the words are spelt correctly.
(1) predecessor, hierarchy, mathematics, lieutenant
(2) predecessor, hierarchy, mathematics, lieutenent
(3) predecesser, hierarchy, mathematics, lieutenant
(4) predecessor, heirarchy, mathamatics, lisutenant

57.  Although he is expert, he is still incompetent,
Identify the type of clause underlined.
(1} Adjective clauss (2}  Noun clause
(3} Adverb clause of contrast {4y Adverb clauze of purpose

58.  “To follow his advice seemed logical.”
The subject of the above clause is
{1) Infinitive (2} Adjective
(3)  Adwverhial (4}  None of these

TEeT HETETE! @ | SPACE FOR ROUGH WORK
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68,  The ancient Greeks more by conversation with teachers than from books.
Complete the sentence chooging the correct alternative.
(1) study (21 have studied
(31 studied 4y had studied
60. The boys fled in great haste, forthey __ asnake
Complete the sentence choosing the correct alternative.
{1} have seen (2] have been seen
i3] saw (4)  had seen
81. L [lost my spectacle in the rain.
II. Hereclothes are quite fashionable,
Pick out the correct sentence.
(1} Omly I 15 correct {21 Only IT is correct
{3}  Both I and IT are correct {4) Both I and IT are incorrect
62. Heis painter of the day.
Pick out the correct article to complete the sentence,
(1) a (21 an
{3] the {4} No article
a3, You should be a salesman, vou have the gift of the gab.
Identify the correct meaning of the underlined structure,
{1y A good personality (2} Atalent of acting
i3} A talent for speaking (4) Determination
64. There is no love lost between them, even though they are brothers.

Pick out the eorrect meaning of the underlined idiomatic phrase.
(1} Intense dislike {2} Cool indifference

{3) Close relations {4} Lowve-hate relationship
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If your speak the truth, you will never regret it.

This sentence is

(1} Simple {2)  Compound

{3} Complex {4} MNone of the above

Point out the sentence that has the correet use of tense.
(1) I was getting up at 5 o'elock every morming.

(2) [ gotupath oelock every morning.

(31 Tgetup at 5 o'clock every morning.

(4] Tam getting up at 5 o'clock every morning.

Select the sentence that has the correct punetuation marks.
(1) Are vou afraid of fat dogs 7 Yes. They horrify me.

(21 Are vou afraid of fat dogs ? Yes ! They horrify me.

(3) “Are you afraid of fat dogs T Yes, they horrify me.”

(4)  “Are you afraid of fat dogs’ ? Yes, “They horrify me’.

An atheist is the one

Pick out the correct alternative to complete the sentence.

1y who believes in God (2} who does not believe in God
(3)  who loves mankind 4y who knows evervthing

Which of the following sentences has a meaningful word order 7
(1) Todoall is Sonu wants help.

(2)  All help is what Sonu wants to do.

(3) Sonuwants to do is all help.

(43 All Sonu wants to do is help.

70.

Point out the sentence in which a conjunetion is wrongly used.
i1} Ewven although the peaple were poor, they seemed happy.
(2) Im spite of their poverty, the people seemed happy.

(3) Despite their poverty, the people seemed happy.

i4)  Although the people were poor, they seemed happy.

T FETATE! W / SPACE FOR ROUGH WORK
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Rice i3 not more nutritions than some other grains are.

Identify the correet positive degree of the sentence.

{1} Some grains are at least as nutritious as rice.

(2) Very few grains are as nutritious as rice.

(3] Some grains are not less nutritious than rice.

(4) Rice i3 not more nutritious than some other grains are,

3.

a.  Some of the TV serial is worth watching today.
b.  Some of the TV serials are worth watching today.
¢, None of the TV serials is worth watching today.

d.  None of the TV serials are worth watching today.

The grammatically incorrect sentences among these are
{1} mandd (2) aandb
(3] candd {4) bande

Most of the rich always look down upon the poor in India.

Which of the following statements is not appropriate 7

{11 Most of the rich in India always despise the poor,

{2} Most of the rich in India dislike the poor and do not have respect for them.
{3) Most of the rich people always hate the peor people in India.

{4}  Most of the rich, from their tall buildings, look at the poor walking down on the
gtreets in India.

74.

The members of the underworld are ever engaged in the rat-race,

Which alternative denotes the correct meaning ?

i1y All the members of the underworld arrange the rat-race.

(27 The poor rats are tortured by the members of the underworld.

(3}  All the members of the underworld are involved in the dirty and detestable
eompetition in order to suceeed.

(4) All the members of the underworld are busy harming each other.

5.

There 15 something repulsive about the way he handles people,
Choose the word opposite in meaning to the underlined word.
(1} Attractive {2} Smooth

(3} Reflective (4} Distinctive
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Comprehension Passage for items 76 to 80,

Read the following pasaage carefully and answer the guesiionz given below if

It is hateful to have to refer to this past history, but the spirit behind thosze
events did not end with them, It survived, and whenever a crisis comes or nerves

give way, it is in evidence again,

The World knows about Amritsar and Jallianwala Bagh, but it does not know
of muech that has happened since the days of the Mutiny, much that has taken place
aven in recent years and in our time, which has embittered the present generation.
Imperialism and the dominstion of one people over another is bad, and so is
racialism. But imperialism plus racialism can only lead to horror and ultimately to
the degradation of all concerned with them. The future historians of England wili
have to consider how far England's decline from her proud eminence was due to her
imperialism and racializm, which corrupted her public life and made her forget the

legzons of her own history and literature,

Bialogists tell ue that racialism is o myth and there is no such thing as a
master race, But we in India have known racialism in all its forms ever since the
commencement of British rule. Indeed the idea of a master race is inherent in
imperialism. There was no subterfuge about it; it was proclaimed in unambiguous
language by those in authority.

More powerful than words was the practice that accompanied them and,
generation after generation and vear after vear, India as a nation and Indians as
individuals were subjected to insult, humiliation, and contemptuous treatment. The
English were an imperial race, we were told, with the God-given right to govern us
and kept us in subjection; if we protested we were reminded of the ‘tiger qualities of
an imperial race’. Az an Indian, I am ashamed to write all this, for the memory of it
hurts, and what hurts still more is the fact that we submitted for so long to this
degradation. (321 words)
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Which of the following sentences is correct ?
{11 The author appreciates the imperialism of the Englishmen in India.
{2} The author dislikes the imperialism of the Englishmen in India.

{3y The author takes delight in writing about the relations between the
Englishmen and the Indians,

(4} The author takes pride in telling others what the Englishmen did in India.

Dharing their Raj in India, the Englishmen treated the Indians with
(1} insult {2}  econtempt
(3)  humiliation (4} All of these

TH.

Which of the following statements is correct 7

(1} Master races are created by Nature,

(2) Some races are created inferior by Nature,
(3) Some races are created superior by Nature,

(4} MNone of these

The passage highlights the degradation of

(1)  the whole human race.

(2) the Indians alone during the English Raj.
{31 both the Englishmen and the Indians,

(4} the Englishmen alone during their Raj.

The author's attitude to life is
(1) historical and literary.
{2} historical and racial.

(31 imperial and racial.

{4} humanistic and nationalistic.
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81,  FWH T WA 29T T ¥ T T A
¥, FAE AR Fern 5. T Tifee fid
®. g 5 HEA wEE
(1) e & anfr & (2) W S i E
(3) TEa W, 9 e 4y @8 wwihzg
Krishnaji Prabhakar Khadilkar's collaborators in the Nepal Plan were
a. Hanmant Annaji Kulkarni b. Ranganath Govind Tikhe
c.  Damu Joshi d. Bandopant Euikar
(1} aandconly {2} cand donly
{3} a, banddonly (4} a b, candd
89. T Hefi sy feweh faviar e S g e A 0
(1) =f, swidss (2) wEw He
(8) e firg (4) A T
Who had opposed the Filtration Theory’ pertaining to education ?
1y Dr. Ambedkar (2] Mahatma Fhule
i(3)  Maharshi Shinde {41 Justice Ranade
B83. 1857 =41 861

®, gAagEEn WA, e w, e R W = dEn e e s e

. A I e st st fe

&, O aa O e Rl st fE

(1) 27 3uf 9 9% EA, F T I (2) 3 snfn = WieE 3, F I
(3) = anfr & % g, o wE W (4) | T & W= A, HqE AR

In the Hevolt of 1857

a.  Inayatullah Khan, Vilayat Khan, Nawab Kadar Khan and Deedar Ehan were
hanged.

b. Landlord called Bapurao was hanged by the British.

¢.  Rango Bapuji Gupte was hanged by the British.

{1} aand b are wrong, ¢ is correct {2) & and b are right, ¢ is wrong

{3) b andc are wrong, a is correct (4] b and ¢ are right, a is wrong
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B4, TS HeA T WICERATAT Sl
=, mdt - ghE
| T TEN A e ge
. IEE AMHE TEE A9EE E6E
=z tigw tm Sefe e
(1) #|,3. %, 19 2] W4, F, B
B3 #1595 4] A F I A
Arrange the following events in their chronological order
a.  Gandhi = Irwin Pact
b, Death of King George ¥V
¢.  Japan entered the Second World War
d.  Mutiny in Hoyal Indian Navy
(1) adeh 2 abed
(30 a.dbec 4} medb
85. # welt Tt vem 3.5, A9 it e doare 9, W@y T e e
T O 41 HIEH FEeT TET .
(1) uigin neEEs e (2) ¥=Yd T@AA HieEEE
(3 ey it e (4) TETEt Fen aHt
went to UK. on a government scholarship to study engineering but
there, he joined the revolutionary group — Abhinay Bharat,
(1) Pandurang Mahadeo Bapat {2} Achyut Balwant Kolhatkar
(3] Vishnu Ganesh Pingle (4) Shvamji Krishna Varma
86,  TE TEUET SMTH1 TSN HONMAT SR faewEnie e, guTe S A A

ITEE HH T W o TS e, | 9 Femandie v, Tew e i,

(1) T (2) W ZEm

(3) HEE TeA 4) = =fia glew

Peasants of the Karia district, which supplied milk to the city of Bombay (now
MMumbai), felt cheated by milk traders and approached . the nationalist
leader who hailed from this distriet, for help.

{1} Mahatma Gandhi (2} Morarji Desai

{3) Bardar Pate] (4} Dr Verghese Kurien

T FIFTEIST A | SPACE FOR ROUGH WORK PT.O.
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87.  fim forgm arendar wmg wgnra ardt fm s cevE Amops e,
(1) e oofae (2) i g S
(3) T (4) dfga T
Shahu Maharaj appointed as the education officer after Miss Little.
(1} Indumati Ranisaheb 2y Shrimanta Rakhmabai Kelavkar
{3} Tarsbai Shinde 4y Pandita Ramabai

88, smafrr wrArs sfrermre S wala 012 afed gz w0

(1) o mw amdem (2} T e

i) TEEA i4) AET AR

Which was the biggest peasant guerrilla war of Modern Indian History 7
{1) The Kizan Sabha Movement (2 Moplah Revolt

{31 Decean Hiots 4y Telangana Movement

80. 3N THIR THE, ¥E GRS o7 {v T AT Rid) e mEe w7
(1) T T MfaTd e e el
(2 i o) s v A e
(30 = uE miE e A
(4)  FE e T w o g swae faien
What iz common between Begum Aizaz Rasul, Hansa Mehta and Benuka Ray ?
{11 They criticized the Constitution for not following Gandhism
(2]  They azked for 2eparate electorates for women
(3]  They were members of the Constituent Assembly
(4] They authored the report called “Towards Equality” which dealt with women's
liberation

80, gakTeT e .
(1) i s ArEETE - e
(2 g = g -
(3 o gfw S — gl
(4) wfen Zamn W — Fiww
Find out the wrong pair.
(1} Progressive Women's Organization — Hyderabad
{2}  Purogami Stri Sangathana - Pune
{3} Bori Mukti Sangathana - Mumbai
{4} Mahila Dakshata Samiti - Kolkata

HFET WIS AT | SPACE FOR ROUGH WORK



1.

T A HEEEH YN e

A= W STEEE TR e

#iim g v wft s

Siegiiirm i dnfrm o wg A

o o8 M ow

(1) T m (2) g
(3) =i g (4) =g fiefa g

Which soil has the following properties :
Found in the humid climate area

a
b. Found in the high rainfall area

P

Low ratio of organic matter

d.  Aluminium and Manganese compounds are seen in it

{1} Regur acil {2  Red soil
(3} Laterite soil (4] Sandy soil

A o o

. wEw e g4% TEE e e e v

7 T e Rt gfEm wiwn S s e g,
F. ufvam O e Rl e wdt g v

(1) wE faum @ aiE s (2} s Tiae 9 Wi am
(3) Fam 3 s i s (4) Frerd w sl w wirE s

Observe the following statements :
The Konkan region receives 94% of rainfall from south-east monsoon winds.
b.  The zouth Konkan region receives more rainfall than the north Konkan region,

e.  Western (Ghat section receives less rainfall than the coastal section.

{1}  Only statement a is correct (2]  Only statement b is correct
(3} Statements a and b are correct (4] Statements b and ¢ are correct

FeET FTAME! ST J SPACE FOR ROUGH WORK P.T.O.
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98, et Fd R ater T

TR TS ST AT TearE ST )

waTe T TR 9 a3y et T,

TR S W S it SR 9rEs gEEl,

e e & (2) ww fum =
e faum & i4) fam a1 snfin &

Which of the following statement/statements is/are incorrect -

(1)
{3

The windward slopes of the Sahyadri mountains receive less rainfall.
Mahabaleshwar receives less rainfall than Amboli.

The north-eastern part of Maharashtra receives rainfall from north-eastern
monsoon winds,

Only statement a (2}  Only statement b

Omly statement ¢ (4} Statements a and ¢

B4,  WERTET 2011 = S TET T EiaEE faed i faee W aes 7

(1)
(2)
(3
(4)

wefiteft min g
o s g
fitelt s 3
s i efivel

As per the 2011 Census, which two districts in Maharashtra have the lowest literacy
levels 7

(1)
(2]
(3]
(4}

Gadchiroli and Dhule
Dhule and Nandurbar
Hingoli and Dhule

Mandurbar and Gadchiroli

TWEEHT WHTETE W SPACE FOR ROUGH WORK



95, wrelterdd neirenfie whd fed b gz daw 2

(1)

(23

(3

(4)

wraft & T

e T HETE
mefatE 3 s

W § T

o
a7 anfr =
o W g

o, w

Which of the following districts in Maharashtra come under the rain shadow zone 7

(1
2]
(3l
(4]

Parbhani and Ratnagiri
Dhule and Solapur
Gadchiroli and Amaravati

Ahmednagar and Pune

b only
aandb
bandd

g, band ¢

FreeyT HMTETE! W | SPACE FOR ROUGH WORK



96. 4 SiE s
i st Ir
(re) (g}
¥ wEIER L wewnE - wfd
7. faaw I, g~ awwt
T, W ER . g% - @
Z. TEEH HR IV. TFIFEg — oo
= 7 & T
(1) 11 I I v
2) IV I I II1
3 IV I i | 11
4y III I v I
Mateh the List I with List II and select the correct answer from the codes given
below :
List I Lest 11
(Ghat) {Road)
a. Fonda ghat I.  Kolhapur - Ratnagir
b.  Diva ghat II. Pune - Baramati
.  Amba ghat III. Pune - Satara
d.  Khambatlki ghat IV. Eolhapur - Panaji
a b € d
(1 I T I v
2y Iv 11 I 11
3y IV I I III
4y TII It v I

WO WIETETE! ST/ SPACE FOR ROUGH WORK
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87. @9 2014 v moeE s e o f Ride ol e (SEZ) swrife e A ?
(1) @fwm
(2) i
(3) TR

4y AL

Up to the vear 2014, in which division of Maharashtra was not a single Special
Economic Zone (SEZ) executed ?

{1} HKonkan
(2}  Aurangabad
13y Nashik

(4} Nagpur

98,  FEWEIT 3 A e AaEE 92 g, # st amEee R e 39 0
(1) wia
(2) =BT
(3) e
(4) AT

There iz a general decrease in temperature with increasing altitude. In which
atmospheric layer is it observed 7

(1) Troposphere
(2)  Tonosphere
3y Stratosphere

i4) Exosphere

O] FTEIS! ST | SPACE FOR ROUGH WORK P.T.O.



99, e
o | §E e T
. WiER an I TWER
@ Hg uqE yEE 1. e el
T A [ I & W& E
T offe AR V. wEfe
) g 5 E-1
1y 1 v I 111
2y I I v 11
3 I I m v
4y TI II I v
Match the following :
Winds [ Qcean currents Name
a. Btrong wind I. Labrador
b.  Cold ocean current II. Hoaring Forties
e Warm ocean current I Jet Stream
d.  Westerly winds IV. El-Nino
a b e d
(1) I v I 11
{2y I 1 v II
@ 1 II I v
(41 III II 1 IV

100. WERTS, TEETHiE S e wegre sevde faue e
W, Toww viteer 84 s
|4, AW Tfe 226 WTeA.
. HEER W 25 .
(1) w Bur 5 =iE an 2y Frart = st @ W s
(3 Taum a1, 7 i = el g (4) Taur = anfor & =t o
Observe the statements regarding local government bodies in Maharashtra :
a.  There are 34 Zilla Parishads.
b. There are 226 Municipal Councils.
e.  There are 26 Municipal Corporations.

{11 Only statement a 15 correct {2} Statements a and b are correct
(3} Statements a, b and ¢ are correct {4) Statements b and ¢ are correct

FFee] FINTAIST AW [ SPACE FOR ROUGH WORK



101. wuFdem AfrwE wefim e o

FeTy

HO14

q7 16

w17

z 18

T gty Frasr,
w ¥

(1) 1II v

2y I w

3 1 Im

4 IV i |

111
I
m

IL

I

1

=

st wavet

FEGTEHH TEEAT

wregam Framm

Al At JEE

Match the pairs related to Right to Equality.
Provision

Abelition of Titles
Equality before the Law

L
1L
ITl.
V.

I
I

Article
a 14
b. 16
c. 17
d 18
Select correct code.
a b
1y I w
2y II w
3 I m
4y IV I

111

Abolition of Untouchability

205

Equality of opportunity in the matters of Public Employment

11

—
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102, TeEuzAdtE g 9wl I aEE SiE e

W, yEET-Sead L amfm oseen
7. TS AT T I e ueaae
& VS Fg IE Hae 111, sifte Teaaen
. TEwe e uge IV. q.%. e

# L] L kS
(1 I I I11 v
2y O v 1 111
(3 I Iy I I
4y IV mr I i1

Mateh the pairs with regard to provisions of the Constitution and their sources ;

a.  Preamble 1. Irish Conatitution

b.  System of single citizenship II. Canadian Constitution
¢, Federation with strong Centre III. U.5.A, Constitution

d.  Method of election of the President Iv. UK. Constitution

a b C d
(1 I 11 It v

(2 I v I I
3y II1 v 11 1
4) IV I I II
103. SuEE U b ey weE s wdEy ERESE Einf
=TT W,
(1) T i T 2 (2 wa wEm sl ofFm e
(8y T anfh sy (4} v wim sy rEEwE
Panchayat Raj form of local self povernment was adopted first by and then

(1) Rajasthan and Madhya Pradesh {2)  Andhra Pradesh and West Bengal
(3) Rajasthan and Andhra Pradesh {4)  Andhra Pradesh and Rajasthan

Fee]T HHTAIS! AW | SPACE FOR ROUGH WORK
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104. Foemfimd & fieer wemeAra wge e i S@mEdl. el RoERE i
T TErEE HRTETE 7

#.  Fawrgra wmodta s a. e Tege it
7. foem qarfueit 3. Form Fata sfusd
5. wmeErEn Taew wiafnd

1) #Auwd C (2 W, HAE

3 TR A FAE (4} FHEAEIE

Distriet Collector iz the head of the district administration. Which of the following
duties does he perform 7

a.  Administrative officer of the district b.  District Revenue Officer
e, District Magistrate d. District Eleetion Officer
e.  District representative of the government

(1) atoeall 2y Onlyb, candd

(31 Onlya,candd (4} Onlyatod

105, TTHEER He HIv SETE 7
(1) W = Pag aee e
(2) 18 78 0 FWetew w4 =06
(8) T iguil FER HaER
(4) TS, TG @ T YA Fag e T wew

Wha are the members of Gram Sabha ?

i1) Elected members of Gram Panchayat

2y  All persons who have completed the age of 18 years

i3) Hegistered veoters of the village

(4) Sarpanch, Deputy Surpanch and elected members of the Gram Panchayat

TeeT FTHIAE! WO [ SPACE FOR ROUGH WORK P.T.0O.
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106,  @rEte faam wem =
wra s sl g gew &
. T O EIL AT | e w9,
=, e fafa FEen e .

Fiterdeh woasmn e s e 0
(1} = 99a () = d W R A
(3) S A (4) HETE

Consider the following statements :

In India, Stamp duties on financial transactions are

a. Levied and eollected by the State Government.

b.  Appropriated by the Union Government.

Which of theze statements isfare correct ?

(1) Bothaandhb (2) MNeither a nor b
(3) Oniya (47 Onlyb

107, TreEeTETea i SETEETEe S e
T
I v faww 92 wovqrersd
10, ST EAren TomE-TTE
1L wr=adter S gaman s

IV. Teamie SEE A geaeeE

L] e E- |

(1} I IV I
(23 11 I I
(3] I 111 IV
(4] III v 11
Match the pairs with respect to special responsibilities of Governors :

State Responsibility with respect to
a.  Assam I. Establishment of Separate Development Boards
b.  Manipur II. Administration of the Tribal areas
¢. Nagaland IN. Administration of the Hill areas in the State
d.  Maharashtra IV. Law and order in the State

a b [ d
(1 II I v I
2y IV 111 I I
|y 1 11 I v
4] 1 I v Il

im:rr ETITATSL AT [ SPACE FOR ROUGH WORK
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108, TEarmEE it sl w6 TR et we R e gt 7

(1) TeoTe T TemaaEed s T vmewedt f ot ade 6 R
A,

(2) 3 Teurd weft anfor TrTe AedTe deekiE vkl wvl TRV W .

(8) T wET W TSI 29T T AT S § o T asah & Y.

(4) wEEEEEgE fafiniEs wew TRV TR S R SR .

Which of the following statements about the role and functions of the Chief Minister

ia not correct 7 '

(1) He furnishes to the Governor such information relating to the adminiatration
of the State or propozals of legislation as he may call for.

(2]  He acts as the sole channel of communication between his Ministers and the

Cravernor.

(8) He may advise a Minister to tender his resignation or he may dismiss a
Minister.

(4) Conatitutionally & non-legislator does not stand barred from becoming a Chief
Minister.

104,

T Ty AT FeNt srge faum w s o

¥, AniEes T i Terees s S,

W A A e e s,

F,E AR weA= G A W T smE,

T, W A e T SaTEh 6,

W, e TS 9 T T U ST ) SeEY S ST SR,
(1) =99 2y ®|FaF

% @9, FaF 4y wmH

The correct statements about the Directive Principles of State Policy are
a.  They are borrowed from the Irish Constitution.

b, All of them are Gandhian in nature,

e.  They are incorporated in Part V of the Constitution.

d The State must compulsorily implement them.,

e.  They seek to provide soeial and economic base to democracy.

(1} aande 2} a,cande

(3] abcande 4 All

T FIAMATE! W / SPACE FOR ROUGH WORK PT.O.
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110,  T=yrETEN dEuiE wreteds S s of ane 7
I T A e i e e e G e
|, el gget 35 9 gl s v AR
%, T 79 awvdn T yEER T e
I TR SR 920 ST g TSNS e 3,
(1) = aafrs (2} =, 3w
(3) #, Fwanmz 4) @, 85 mwfz

Which of the following statements are true about the Governor of the State 7

8.  The executive power of the State is vested in him,

b,  He must have attained 35 years of age.

c.  He holds office during the pleasure of the President,

d. The grounds for his removal are laid down in the Constitution.
{1} a,bandd 2] a.bandc

{3) a,candd {4) a,becandd

111. mmmmmmmmmmm?

¥, HF ~E 3 wREfEers Ties ae.

4. THF FEEE W0 THE 9.

F.  TITOUET ST RIETEE HEEW,

3. TR EOAW W O i a9 F 9 e T
(1} #,49,% {2) =, %, 3

3 @z (4) #, %, 3

Which of the following Directive Principles are newly added in the Constitution by
Constitutional Amendment 7

a. Equal opportunity for justice and free legal aid.

b.  Equal pay for equal work for both men and women.

¢.  Participation of workers in management of industries,

d. Protection and improvement of environment and safeguarding of forestz and
wildlifie.

(1) sbe 2) b,ecd

{(3) bandd 4} a,cd
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112, weitadd won aumfus g9 o ?
#,  ‘Adjournment' TEWSH FTATER HHHH T
& ‘Prorogation’ FEYrd FHNEr] sl
¥ ‘Dissolution’ T FwEEt Fwar.
2, ‘Prorogation’ ¥V SRS @ HHIH
1y {59 (2 = 3y 4 2
Which of the following statements is/are incorrect 7
a.  Adjournment means an interruption in normal business of the Assembly.
b.  Prorogation means the end of the Assembly.
¢, Dissolution means the end of the Assembly.
d.  Prorogation means end of a seseion of the Assembly.
(1) aandb 2 b 3 e 4) d

112,  F2s0 Suifs deaEmET | = e

N, gg=E 248 1 2R fiEn wfiw e mien w it s
Teda At

q. WgwsE 249 I Wi IEET AR SEE TeEE e S S
faftsfrm wwaran gaean iR

. oifeas 250 NI ¥R fiemedt e e fiufam s g
wiftrm
3. w=es 252 IV, @ fewmmm fafufem s wwia aften

= q =+ -
{1y IV I 11 I
2 1 I 111 v
3 I v 1 I
4y 1II I v I

Mateh the pairs with regard to Centre-State Legislative relations

g, Article 248 1.  Power of Parliament to legislate for two or more States
with their consent
b, Article 249 II. Power of Parliament to legislate with respect to any

matter in the State List if a proclamation of
Emergency is in operation

c.  Article 250 II. Power of Parliament to legislate with respect to a
matter in the State List in the national interest

d.  Article 252 IV, Power of Parliament to Tegialaba with respect to
residuary subjects

a b c d
11 IV 111 I I
2 1 i | 111 v
@y 1 IV I I
4) II I v 111

e FTARNSE W  SPACE FOR ROUGH WORK P.T.O
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114, SN &

3, HE # H a6 e wE A I = fnaw o o amel
WA g wdhra e o e

T, TE Furis wE T s 1. sy e
Wil ATATEEET AT ST
Torerm = =i g

w,  mmaficar e oen ww @ Tl 1. wErE =
TulErETY WU sTen S e
e Farmt &y &

g T ff S anfor o it IV, =nieg= o
T
= | q = E

(1 1 11 I v

2y I m v |

3y III I 1 v

4y III IV II I

Match the pairs :

a.  Free and compulsory education to all 1. As the subject of education
children of the age of six to fourteen years is in Concurrent List

b.  Provision for early childhood eare and II. Fundamental Dty
education to children balow the age of six vears

¢.  Parent and guardian are to provide 111, Fundamental Right

(1)
(2)
(3
(4)

opportunities for education to their child or

ward between the age of 2ix and fourteen yvears

Education is the responsibility of both the IV, Directive Principla
Central and State Governments

a b C d
| 1 m  w
n 11 w I
m 1 I v
nm 1 I
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115. T FieE we e g’ a7

. o U AW W FOESA TG YENE A w9
q. TR HEH A
-
E

BT FTHTEE FH A6
. UETEEE geE =l
{1} #,9, %, 2 2 =, %, 2
@ =, i) =,9,3

Which of the following principles come under the Right to Equality’ 7
a. Mon-digcrimination by the State on the grounds of religion or race
b.  Egual protection of the law

¢,  Equal pay for equal work

d. Equality of opportunity in the matter of employment

(1) abed (2) a,cd

3 ad (4] a b,d

116, S sngimETEs e o

#.  FuEEy I gmmy

b, HE FEEE A I1. el el

& T wee 111 nfde e

2. i amifm IV. figel oo
% % %

(1) I III IV II
(2) I w I I
3 IV III I I
4y I v If I

Match the pairs with regard to ‘NITT Aayog :

a. Viee Chairman I.  Suresh Prabhu

b. Chiel Executive officer 0. Mitin Gadkari

¢.  Ex-officio member III. Arvind Panagariya

d Special invitee IV. Sindhushree Khullar

a b [ d
n 1 I v I
(2) I v I il
@ IV m I II
4 [II v i I

FFweT FIATAE T | SPACE FOR ROUGH WORK P.T.O.




i il wemm i TE T,
wrEa wifrn v G B e st B,
TRt e Afiren mrd w1 e aates e
T W oamfr | (2) wod H
#, 7z 4) =, % anfn s

Which of the following statements isfare correct 7

a.
b.
C.

d.
(1)
3}

India’s planning is a democratie type of planning.
Theoretically Regional Flanning first started in America.
Mohan Dhariva was the Chairperson of the Planning Commission during the

HRolling Plan.

Flexible type of planning was a characteristic of the Rolling Plan.
a and b only 2y Onlya

a,bandd (4) a,candd

118, Fa SiEa g

.
q.

.
.

(1)
(2
(3
(4]

et deafd g 1. afm il g @ (LPG)
1966 (vies @i FEfm) 11 wifies 3eameq donsar AT SR 9% S
3T (Hligh Yielding Varieties Programme)

1991 - 1992 11, farafts sgm s sumeE
agrdt Jefi e IV. e et seqe adn oifds soad = 8%
) w ED E

nmrIv 1 I
m 1 1 v
mr I It v
vom I 1

Match the following :

a
b.

L

d.

(1
(2)
(3
(4)

First Five Year Plan I. Adopted New Economic Policy (LPG)
1966 (First One Year Plan) II. Started High Yielding Varieties
Programme

1991 - 1992 I, University Grants Commission set up
Tenth Five Year Plan IV, Attain 8% GDP growth per year

a b c d

111 v 1 1

m 1 1 v

jusi I 11 IV

v or 11 I
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119, Hiven Tuaifis G TEd wE B Ianre sy # ?

(1) il Gemanfie drm
(2) A0 TEEE FE

(3) et e g
(4) sl T A

Which Five Year Plan mainly aimed at modernization of industries 7
(1) First Five Year Plan

(2) Second Five Year Plan

(3) Eighth Five Year Plan

(4) Eleventh Five Year Plan

120.

wrelielRt wore) w0, AT Iufekfis Rl e e @ o
(1) wEeE g T2
(2) diE e
(3) fogm ot i
(4) e #f FeE

Who from the following secial reformers married a widow in the presence of
G.G. Agarkar 7

(1) Mahadeo Govind Hanade
(2) Dhondo Keshav Karve
(3 Vithal Ramji Shinde

{4 CGopal Hari Deshmukh

TRy FIEET W [ SPACE FOR ROUGH WORK P.T.0,
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121, T femfafira 2o domem gfen it o gresio’ T A e ek ¢
(1) T i
() T BT i
(3)  TETET T T
(4) T FEA T
‘Indira Gandhi Eajbhasha Puraskar’ given on the occasion of Hindi Day is renamed
as
i1} Rajbhasha Kirti Purashkar
(2)  Rajbhasha Sanman Puraskar
(3) Rajbhasha Gaurav Puraskar
(4) Rajbhasha Mahati Puraskar
122, SrAEER RO EW A W (SAARC) T wEE Tt 7
(1) A9 (21 WA
(3 A (4] TETEES
Which of the following countries is not a member of the SAARC 7
(1} HMNepal 121 Japan
(3} Bhutan (4)  Afghanistan
129, W st steen et afim e avegn e wivveEm da s, @ genrEl el fid

e 7
{1 10 et 2 9 fed
{30 10-15 et (4) 915 feh

India’s longest bridge, Sadiva Bridge, is being constructed on Brahmaputra river.
What is the length of this bridge 7

(1) 10 km (2) 9 km
(3 1015 km 4) 15 km

TR SETATS! W { SPACE FOR ROUGH WORK
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124. 62 =0 i o TR 9rEd Wieg e

¥, walep Rt I faome e

5, HEEe gEY TS I, fade wia

F.  WECER BEeH 1. e gt

3. TEER AR V. wafde fm
| = =

i1 I 1 m W

2 IV m 1 1

3y I Iv i I

4y I I II v

Match the pairs with regard to 62°9 National Film Awarde.

a. Best Direction L Vishal Bhardwaj

b.  Best Male Playback Singer II. Vivek Harshan

¢.  Best Editing M. Srijit Mukherji

d.  Best Dialogues IV, Sukhwinder Singh
a b e d

i1 I n om 1w

IV mnr 1

3 I IV I 1

(4) I 1 I w

126.

_ TR AT W AR W

(1) W {21 =ik

(3) =iz (4) o=

HRaja Rajeshwari, who was born in India and migrated to the US., was recently
appointed as a judge in city of U5,

{1} Houston {2) New York

(31 Washington {4} Austin

Toeq] HIATEG! ST | SPACE FOR ROUGH WORK
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126. i Fw G aiEe gee? S Tt e,
(1) 17 s, 2014 (2) 29 sifever, 2014
{3) 175, 2015 (4) 297, 2015
India on successfully test-fired the ‘Wirbhay’ Cruise missile.
(1) COetober 17, 2014 (2} October 29, 2014
(3} March 17, 2013 (4) March 29, 2015
127. et wrdre e ‘wrEee v wgEd s 3HeE FE s i 2
(1) 3T 3 (2) 3. firme
{3y W= (4} T S T
Who has been appointed recently as the head of the Indian Railway's ‘Kavakalp
Council” ?
(1} Ajay Shankar {27 AK Mittal
{3} Ratan Tata {4} None of these
128, ﬁﬁmﬂmﬁﬂﬂﬁlﬁwmmﬂiﬁﬁﬁﬁﬁﬂmm ]
T W deeegean SmoiE g
(1) firamsariin
(7] WE=EE T
(81 el T
(4) &
In the ggih Republic Day Parade 2015, the award for the best tablesux went Lo
Maharashtra. The tableaux was based on the theme of .
(1}  Crowning ceremony of Chatrapati Shivaji
(2) Ganesh festival
{3) Pandharichi vari
(41 Bail Pola (Bullock festival)
129. ‘Statue of Unity’ % Hie@en A0 TER decHeE 9o 40 qHe qed Fdim 9w

forRaT I WA TR, s 6 ah! WEVIR HTE.

(1) 180 e (2) 1s2sEx

(3) 185 e (4) 186 ¥

A statue of Sardar Vallabhbhai Patel is being built in Narmada district of Gujarat. It
is known as ‘Statue of Unity'. The statue will be in height.

(1) 180 metres (2) 182 metres

(3} 185 metres (4] 186 metres

o] SIS T [ SPACE FOR ROUGH WORK
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41 Z0s

“Hem U T W S fram gt a2

(1) sy e sty a9 (2015 - 16) wmeoma # g g el
(2} 2010 - 11 wed F0] ST AEE TEEAA FEET N A SR AR
(3 Tt wdt dmamerEl e am 15 58 3 e 59 35,

(4) ufiERR F7ef v fem S 20 99 fE T wwe s,

Which of the following statements about ‘Atal Pension Yojna' is falee ?

(1} The scheme has been announced by the Finance Minister in his Budget speech
for 2015 - 16.

(2} Thia scheme will replace ‘Swavalamban Scheme’ introduced in 2000 - 11,
{3)  The minimum age of joining is 15 years and maximum age is 35 years.
{4} Minimum period of contribution by the subscriber would be 20 years or more.

131.

M9 affent wEvE afreEen o sErTEl g 2015 431 Feed wRdEm e A 2
(1) = Wi 9w (2) A faw
(3)  wfie wm smrErE (4)  HhE T

Wha is the Indian recipient of the Whitley Award 2015, which iz alse dubbed as
Green Oscar 7

(1)  Dr. Pramod Patil (2) Rajendra Singh
(37 Anil Kumar Agrawal (4} Sunita Narayan

132.

HEARIES HicHE ATl GETE WA QUi S5 RS 00 . W QT S S
i1y 65 (2) 66
(3 &7 (4) 68

Madanmohan Malviya has been posthumously awarded with this vear's Bharat
Ratna. The award was given to him vears after his death.

(1) &b (2) 66
(3) &7 4) 68

133.

zﬂwmﬂw@aﬁﬂmmmmm@mmm
?

(1) ¥l - g {2) s -

(3) W — ¥R (4) W

Which two tehsils of Maharashtra stood first in the country in connecting all Zilla
FParishad schools by ‘E-Learning' ?

(1) Haveli - Paranda (21 Nashik - Bhum
(3) Haveli = Bhor {4) Paranda - Bhum

FroaT EHME! T | SPACE FOR ROUGH WORK P.T.O.
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134, FT=n Td diwEn WewEn v oyeew gwdE Oeen s wiEl, W ovsme

AT T W R,
(1) T (2 T
(@) i4)

A project to build a road network all along the horders of the country was recently
announced, It is named as

(1) Rajmala (2) Bharatmala
(3) Simantraksha (4) Simasurakshamala

135. UEATSITEA W WETE FuE T i Sheael gre e
(1) oo, gk, ey, swuEd, e,
(2) oo, g, gml, T, sfimer, SeEm
(3) i, gas, T, i, simErg, e
(4) i, o=k, Ty, iR, @, AR
Following cities of Maharashtra are included in the ‘Smart City Project’ :
(1» Pune, Mumbai, Nagpur, Amaravati, Nashik, Thane
(2}  Pune, Mumbai, Thane, Nagpur, Aurangabad, Kalyan
(3}  Pune, Mumbai, Nagpur, Nashik, Aurangabad, Bhiwandi
(4} Pune, Mumbai, Nagpur, Aurangabad, Latur, Nanded

136. uEr Faad wam e
A, T e el 2015 ¥ 39 31 wHEd 4 14 FEEE 20156 T wEE WAL
|, T 3T5EA wifeEn gal S e gL
*, i o S ywmah i,

it Sl R R frgs e 0
(1] #Ha= {2 W A
(3 = anfinw 4y fol

Consider the following atatements ;

a. National Games 2015 were held in Kersla between 31% January to 1410
February 2015,

b.  The Great Indian Hornbill wags the official mascot of the event.

¢.  Hornbill is the state bird of Kerala,

Which of the above statements is/are correct ?

{1} aandhb (2} Onlya

{3) bande 4} All the thres

FHEeH] FIETETE! S | SPACE FOR ROUGH WORK
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187. = oy meie aren gadla wefiadh S s st gt 2

(1) 9 oA Tl TETaET) A,

(2) 7 oftem R wefEgEs (Ecology) 78 T2 W A

(3) wiafem amn dem it 2016 2 ¥ s smda,

(4) o wiftdTT ST 2000 el HE

Which of the following statements with respect to Dr. Madhav Gadgil is no# correct 7
(1) Hewas India’s renowned environmentalist.

{2) He was the Chairman of the Western Ghats Ecology Expert Panel.

(3) He is the winner of the prestigious Tyler Prize 2015.

{4} The Tyler Prize was instituted in 2000,

138, faenite FeaerpEim wog wom o T90e Fagy e e do =t §9F & Fen
UEr T A SRR

(1) @t i

(2) T e

3y =

(4) 37 ot

Rishi Sunak, an Indian origin politician has been recently elected as Member of
Parliament in Britain, He is the son-in-law of

(1} Laxmi Mittal

(2) Swaraj Paul

i3 Narayana Murthy

4)  Azim Premji

O HEMATE! WA | SPACE FOR ROUGH WORK P.T.O.
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139.  g&- wgg dr=n veuiie wele faud e e
A, AR S s g agig wn sa i,
A E IS e w2 1,000 AT TH F04 T,

%, ZEdl 9-2 7k SEEr

. WA IEsEmE gEE Tl T st 10 36 sl e e
it Feh fr fees amn 7

(L ¥, 4%

2) %, %3

(3 w49 =

i4) aftaod

Consider the following statements regarding Sukanya Samriddhi Scheme :

. Any Indian citizen can open Sukanya Samriddhi Aecount.

b, Minimum deposit T 1,000 for initial account opening,

¢.  Rate of Interest 9-2% per annum.

d.  Maximum age limit of the girl child for opening this aceount is 10 years.

Which of the above statements are correct 7
(1} a,be

21 b,gd

3 abd

4] All the above

140. WF. FEAU W AT T WTE THT 3R TN W AR S 3 A e

g, W viE  aE e
(1) =A™ (2] e
(3) T (41t =, weEw

‘The Tunnel of Time', iz an autobiography of R.K. Laxman. It has been translated in
Marathi by Ashok Jain with the title

(1} Common Man (2] Laxmanresha
(3) Laxmeanacha Baan {4} Mr. RK Laxman

FFee] FETETS ST [ SPACE FOR ROUGH WORK
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141,  gfie we e e i v dae vty fam,

2 a 4
1 G . 13
5 . T a1
{1y 18 2 17 3 12 4) 11

Study the number pattern and select the option for replacing the question mark.

2|3 4
1 & 13
5| 7 |3
1) 18 @ 17 3 12 @ 11

142, T P 1 fag A vrgm afvess 10 i e,
fig B m fag P g i 2 fiex .
fig Qi fig B o 134 6 fiex o,
g Cm g Q wH w6tm 2 9ffw I
e F A fi v B T e 7
{1} ACP (2) B,C,P
(3 qCA 4 ABQ

Point P is 10 m to the West of Point A
Foint B is 2 m to the South of Point P.
Point @ 15 6 m to the East of Point B,

FPoint C iz 2 m to the North of Point .

Which of the following three points fall in a straight line ?
L ACPE 2y B,C,P
3 Q.0CA 4 AR Q
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143.  FiwvrE Swned o angEsEh R, B am s

(1) wfesh (2) et (3) S
A river i3 shown in the map of Konkan. What is its name 7

(1} Savitri (2) HKundlika (3 Jaghudi

(4]

4]

LRE T

Muchkundi
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144, Tz ves davmadt afm ool P

(a00 | [00Q] (a0 | LG 0
0 ) 0 Oda | )
O l' 'zml & :
0 oA O @
o o P ‘ o o| [04&
oaA | |[0aa | loaa| |oaa
A A A A la
es | 00 o 0a® (O o

(1 i2) {3 i)

Select the appropriate option for replacing question mark.

;Eﬂ joog o] (0,2
O 0 0 OAA ‘?
%A A %A & "
O A 0 ®
| O .
o o] [o 4 [o o] |04
OAA 0OAA OAA 0AA
A A A A A
o 00A| 0a® [0 o

(1} (2) (3} (d)

FreE] WHIHTE! TR | SPACE FOR ROUGH WORK P.T.O.



(1 (2} (3 4]

HFEEdT THTHIE! T | SPACE FOR ROUGH WORK



A 49 Z05
146. @i smpia anfh siwid Fiew w0 anfin sefagrem aoft wom o5 @, 3 R

56 27 27
9@31 9@ 36 3@35

7 9 9
i1 2) 9

3 12 4) 3

Ohbserve carefully the fipures and the numbers. State the number in place of the

guestion mark.
56 27 27
9@ 81 9 @ 38 3 ® 36
7 ) 9
(1 1 2y 9
3 12 4y 3

147. e Hen et wetaa teel Savamedt sfm Tt e
32, 84, 37, 41, 42, 48, 7, 55

(1) 49
(2) 40
(3 47
4y o0

Replace the question mark in the following number series by selecting appropriate
option ;

32, 34, 37,41, 42, 48,7, 55
(1) 49
(2) 40

3 47
4) 350

EFEE] WHIHIE! TN | SPACE FOR ROUGH WORK P.T.C.
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148, wwhswe e Savamedt 3fam o fae,

/@ﬁ Q‘tf/\g ,

U\O NN
v @ B D. 9

O O O

(1} (23 (3 4]

Belect the appropriate option for replacing the question mark,

”’“‘x t
Jf; Y ri\
"{-u

@ O/Q’

(1} fﬂ‘? i4)

T TEMETS AN / SPACE FOR ROUGH WORK
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149, e s 300 AT S, O HISARAn guan 3 ThEW W T A e ST,
o= 2w faw amft ay wiew Bom R, ST s fefren 2R e s ame 9
femremn dm o femm anfn afraren o faa smd dow o, @@ 9Ed e 2 9w

w WY AuaT Wi G s, W e REe sgen S S e e 7
(1) 7Ean (2) IpEEn
(3) wiHEw (4) am

Atul is a personal dance trainer. He has clienta booked in from Wednesday to
Sunday next week. Madhu will be attending training two days before [hina. Chanda
is booked two davs before Micky who is coming one day after Dina and one day
before Lalita. Finally Shiv is scheduled in four days after Madhu.

If Madhu is attending training on Wednesday, on which day has Atul deuble booked

persons ?
11} Thursday {2} Friday
(3) Saturday {4) Sunday

150. ydie s mivdfte fagm aes B,
31, 38, 48, 61, 75, 96, 118
(1) 48 {2) 75 3 86 4y 118
Select the odd element in the following number sequence.
31, 38, 48, 61, 75, 96, 118
(1} 48 2y 175 3y 96 (4 118

151, 3®T ¢ 12,000 Wigde TAGH UF AN gr HE1. 4 WEAEE G 2 15,000 e
ittt feawme, Twismy, W == = S 2,200 T8 e, = e e

T it 9
{1} T 978 (2 2 1,000
i3 T 1,050 (4) ¥ 1,225

Arun started a business investing ¥ 12,000, After 4 months, Vinay joined him with
an amount of ¥ 15,000, At the end of the year, they eam a profit of ¥ 2,200. Then
find the share of Vinay in the profit.

(1) 7978 (2) T 1,000
3 F 1,050 4) 71,225

BEE TR AT | SPACE FOR ROUGH WORK P.T.O.
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152, Tag wEEEd ®E 2EEd e g ?

(1) 177 55 T {2} 18" 55" 391
(3) 197 55 W (4) 207 55 T
Which latitude passes over the Mumbai city 7

(1) 17° 55° North (2} 187 55" North
(3} 19" 55 North (4} 207 55" North

163, HATH Q == g o, S gty fan

Q
(1 (2) )]

Select the option that has figure @ as a part.

Q
{1 {2} (3

TPOE WA R | SPACE FOR ROUGH WORK
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164, ol Ffew wfm mas s # uwbee fig s 9w e e

A

al

.

B
5

(1)

T MRS I,
T wiTa A HEi T .

Ftes fa fegrarht wmwn maen sdim il wop el FEen st
R

el wfes diftaren HaE 99 T e g,
w-% 2) F-% 9 #H-7 4 #-w

Select the two statements that together prove that “Shaleen is 8 Karnatak vocal

singer”.

8. Shaleen sings in a band.,

b.  Shaleen likes Karnatak music best.

Difficult musie such as Karnatak and Hindustani require well trained voice.

d. Shaleen's band performs Kammatak musie,

e, Shaleen has practised Karnatak music for many years.

(1) a=d (2) a=e (3 a=b 4} a=c
165. . Wmids =AW Huean (WTO) F 1 Fam, 1995 {0 st s

W,  umEe 31 fedE, 1995 3 St =R g9 (WTO) 96 $en.

(1) wea o 9 e

(2) T § wET AR

(3) e R wdie amia

(4)  F=h R g smia

a.  WTO agreement came into foree on January 1, 1895,

b. India joined the WTO on December 31, 1995,

(1} aoenlyis correct

(2) b only is correct

(3) Both the stalements are correct

(4)

Both the statements are incorrect

T WIS S / SPACE FOR ROUGH WORK P.T.O,
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156. 10 #fi =0 wween adem o 9 wqW s (@ 10 W) sl se usgwe
wiaeaTH, 9ds 4 ugElE 1 aefie tEiea dewes et v

(1} (15043 - 1007) (&) (2) (100n - 15043 ) (F)°
(3@ (100 + 15043 ) () (4} (100% + 15043 ) (F)?

A regular hexagon (all sides are equal) i= inscribed in a circle of radius 10 cm (see
fipure}, Then the shaded area bounded between the cirele and hexagon is

(1) (1503 - 100x) sq.cm. (2) (1007 - 15043 ) sq.em.

(%) (100 + 15043 ) sq.cm. (4) (100 + 15043 ) sq.em.

157, wampdt swest =50 F6 3 el 100 S @ § I fEm s e e 20 s
T 10% FH greht. = SR v G e = e S
(1) 28% 2y 30%
3 41% 4 58%

A rectangular piece of cloth was 50 em wide and 10 em long. When bleached, it was
found to have lost 20% of its length and 10% of its breadth, Find the percentage of
decrease in its area.

(1) 28% (2)  30%
3 41% (4) BAR%

FECIT FHATS ST | SPACE FOR ROUGH WORK
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158, 200 He widten e 72 ot w7 Sre 360 e wtE Sy i s Fim

T 3= = 7
(1) 28 T (21 80 e
(3 1 fafe 4) 3RFFT

A 200 m long train crosses a 380 m long tunnel at a speed of 72 kmvhr. How much
time will it take to cross the tunnel completely ?

(1} 28 sec, {2 30 sec.

31 1 min. {41 38 sec.

169, 7 it = ameed @, 10 die W e @ T, 2 dic = g 440 diw 3 swer

T il woEen fRdl 9= awre 7
i1y gfafE 408E= 2y 6ffe 4595
3y &M 558 (4) 6 ffE 50 e

Through a tap, whose inner diameter iz 7 em, water flows at the rate of 10 m/s. How
long will this tap take to fill a circular cylinder whose diameter is 2 m and height is

49m?
(1} & minutes 40 seconds (2} 6 minutes 45 seconds
(d¥ 6 minutes 55 seconds (4) 6 minutes 50 seconds

160, I FEaH Tawn Gl W 61 3. o1 waid 9id 9 gl SEH eeEmdi Het

.
(13 06 (2) o8
(3) 13 4 09

The average of five consecutive odd numbers iz 61. Then the difference between the
greatest and the smallest number is

(1 06 (2) 08

(3 13 4) 09
TFEET HTATATE! W | SPACE FOR ROUGH WORK P.T.Q.
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161, @ Wwar @EE] 9 wEEl 3EE 460 F 15 TR, W UH weE 75 e, W ged wem

FIoE 7
(1 90 2y 104
3y 83 i4) 108

The LCM and HCF of two numbers are 450 and 15 rezpectively. If cne number is 75,
then what iz the other number ¥

(1y 80 2y 105

(3 93 4y 108

162, Fwarard 16 7 &R oF w9 15 Twa i wwm ot = em 20 s s
16 famena 0 . T T § AFIe DR Faamds e G
{1 4:3 (2} 6:6
3y 4:5 4 5:7

In a factory, 16 skilled workers can complete a piece of work in 15 days and
20 unskilled workers can complete the same work in 16 days. What is the ratio of
the efficiency of skilled and unskilled workers 7

1) 4:3 2y 6:6

3y 4:48 4} 5:7

169, Fmm w99 _ 4792 9

31 31
1y 31— 2y 32—
1y 32 {2) 32

31

= 4 3
3 332 i

Find the value of 8% _ 4529

31 a1
it 1 i)
(1) 3132 (2 3232
a1
4y 31
(3) 332 (4}

e FHIATATAL AT | SPACE FOR ROUGH WORK
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(469 + 174)* - (469 - 174)%
0 L = a m T —
164 x) = (174) 2 T E
(1) 174 2y 186
3 469 (4] 348
1 _ 17432
¢ 469+ 174)" - (469 - 174) =4, thenx =
(%)= (174)
(1) 174 (2} 186
3 469 (4} 348
165. V2 +43 = a-bB W, W ag bwn feh Bl

342 -2/3

]
1 1
(1} El—ﬁ.. =

i)
=2 k=2
{2} a=2,b 5

LR E=

8
4) a=3b=—
5

E‘E—Tfﬁ = a-b+6,then the valuezofaand bare
32—
i)
1 = =
(1) a=3.b i
o
(2} =2, b=—=
? 6

5
39 a=2,b=--
[y a g

4] a=3,b=

on| o
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1686. “gemRaTed # saRTsn Afds At S wen 5 R ok & s S feh

(1) AT, F7E (2] T d TR
(3 =R 4) 3, et

“Book-keeping is the science and art of correctly recording in the books of accounts,
those business transactions that result into transfer of money’s worth”™ is a definition
given by

{1}  R.M. Carter {2) Spicer and Peglar

{3)  North Cott i4) J.R. Batliboi

167.

saftpT Emar
{1} = = wm e mnfe=a g =
it =f =y 3 =faem W e
(2} A S O R
Sretea Haefen w9 w0
(3) @ fim a7 fom
EERE R =l
(4) FAEEE Fom w A

Rule of Personal Account is

(11 Debit the receiver
Credit the giver
(2} Drebit what comes in
Credit what goes out
(3} Debit the expenses and losses
Credit the incomes and gains
(4} None of the above

168.

a2, 49 &, dEgE T ¢ e A FEas Aan ?

(1) =R @ (2) T Fa @

(3) wmaey (4) it od

Rent, Electricity expenses, Conveyance expense are reflected in

(1) Trading A (2} Profit and Loss Ale
(3) Balance Sheet (4} All of the above

SFES WHTATE ! AF { SPACE FOR ROUGH WORK
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59
WEATEtE S W T A EraTE s 7

(1) W= =

(9) 0w T @S =R

(3) wTesag

(4) wiredd wom # A

Which of the following iz similar to Profit and Loss Afe 7
(1}  Receipt and Payment Afc

{2) Imeome and Expenditure Ade

i3 Balanee Sheet

(41  None of the above

Z05

170,

W, % T g I TR FET T [EE FE 0 7
(1) = iE e

(2) EF RIS e S

(3) it A i T

(4) aiedeh S @

A Cash Book having Cash, Bank and Discount columns is called as
(1)  Simple Cash Book

{2)  Double Column Cash Book

{3) Three Column Cash Book

(4} None of the above

171.

sy 2 AR T e e 2

{1} Trfird (2) st

(3 =g (4) W 7w

A book of prime entry recording the transactions daily is called as
{1} Journal {2}  Ledger

(3}  Cash Bock (4} Trial Balance

e HETEEN AN | SPACE FOR ROUGH WORK
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172,  “agemerlt geamemed” wefraddt women gnds ofm som gt

(1} wfi= daen 2y TES

(31 s (4)  uwiEr e
Which of the following cannof be a “not-for-profit” coneern 7

{1} Labour Unions {2} Corporations

13}  Sports Club {4] Charitable Trust

173, wwta faum faame =
=, FEE WG geaid afEETETE) 50% WHHY 20N WA ¥ OiEe 2 e W,
4. SEwEEmE 50% A g fae @ o o .
(1) e = =, 9 9%
2 Fum @ 9%, 5 W=
(31 el Tt g
(4) T faur i

Congzider the following statements :

a. India has become the first country to reserve 50% zeats for women in local self

government.
b. Bihar was the first State to offer 50% reservation for women in panchayats.
(1) Statement a is correct, b is false
(2] Statement a is folse, b is correct
(31  Both the statements are false
(4) Both the statements are correct

174, =RgrAATE ST ST S AT S oy w6 7

(1) T i (2) vaEa =i

(@ afemy (4) =egie g

Which accounting principle recognises the independent existence of business 7
(1)  Dual Aspect (2) Entity

(31 Cost (4] Objective evidence

TFEETT FTAIE!T W / SPACE FOR ROUGH WORK
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175. Tieteriehl SITR/H [ T R 7

R L e

. g

F, i g

E T

(1) = anfor & {20 W=
(3) = i ® 4) %

Which of the following isfare Subsidiary bookis) ?

Purchase Beok
Sales Book
e.  Cash Book
d.  All of the above
(1) aandb (2) aande
(3) bande 4y d

176, @it Fv ' i figs awe 7
(1) =i w@w
(2) aTtaE (Tt E
(3) =g @t
(4) =l S and

Which of the following accounts would alwavs have a debit balanee 7

(1) Personal Ale

(27 Real Ale

(3 Nominal Afc

(4) MNone of the above

FHoea] SETGTE! A { SPAGE FOR ROUGH WORK
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177. wgn womidd) gfen 3 gufr wd fnh s $oem weme s smew = ofom
(1) EHdwed a12 Bh
(2 Fremm A TE a9
9y P amm w iR
i4) Fregs A o
Deerease in provision for bad and doubtful debts would result in
(1} Increase in Liabilities
2y  Increase in Wet Profit
(3} Decrease in Net Profit
(4) Inerease in Net Lozs
178, TEWEAATE FI0 AT WA (AS) # R e gdfim g v
{1} wuH. 9 (2) T 2
(3 uUH. 8 (4) TR 10
Which of the following Accounting Standards deals with Accounting for Fixed
Assets 7
(1) ASS 2y AS2
(3} ASS6 4 AS 10
179. TEIEHI W6 WA HAHE wrearEiEd ME STEIEE WA,
(1) e+ (2) T s
(3) & 4) TR

Gooda returned to suppliers should be accompanied by
(1) Bill 23 Cash Memo
{3)  Debit Note id)  Credit Note

TETAT FEETET T | SPACE FOR ROUGH WORK
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180, Traarea a1 TEEITEE] TAfRET W g e W AT,
(1) v (2 aveiie
(3) @WwE (4) TR
The Column of the Journal is not filled in at the time of Journalising.
(1} Date (2)  Particulars
3y Ledger folio (4] Amount
181. <t HeE R e $wE AL
(1) & oo (2) e
(3) TEATTEH (4) e

starts where book-keeping ends.,
(1) Trial Balance (2) Balance Sheet

{3} DBook-keeping {4)  Accountancy

182, wrfte migdren A, 31 9, 2015 st wisderd W fE e § e,
it wizggE ¥ 3,20,000; EE TR (THE) ¢ 1,40,000; TE wEN TwE T 20,000
Fefialien = 2 900; S gl wigae ¥ 20,000 suft wisgeada =re e T 19,800,
(1} T 4,78,900 (2) % 4,78,000
(3y ' 459,000 (4) ®4,79,800

From the following information ealculate Capital Balance as on 315 March, 2015.

Opening Capital Balance & 3,20,000; Annual income {Profit] $ 1,40,000; Annual
Total Drawings ¥ 20,000; Interest on Drawings ¥ 900; Additional Capital ¥ 20,000
and Interest on Capital T 19,800,

(1y = 4,78,900 (2 ¥ 478,000

{3) = 4,50,000 (4) = 4,779,800

e FIMEIG A | SPACE FOR ROUGH WORK P.T.O.
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183. wEW et smEETfter I IR AR AL
1y == {7 fom
3y mE 4] 9E
Diepreciation is charged only on the assets of a business.
(1} Current (2] Fixed
(3}  Intangible i4)  Immovable
184, v TEETEiE W e ge ggd (veewe anfuw gt wem A Sl s w dem
10 28 o s AFRRE W wrEmfE wh gES 4o ¢ 10,20,600 5% @ W o
TrEmET g o e a@e 0
{1y % 11.47,400 (2) ¥ 14,00,000
(3 F 12.20,000 (4y % 1540000
After charging depreciation on machinery @ 10% pa. for three years under the
Redueing Balanee Method, (written dewn method), the balanee of Machinery Afe is
T 10,20,600, What iz the original cost of machinery ?
{1} # 11,47,400 (2 7 14,000,000
{3 T 12,20,000 i4) ¥ 15,40,000
185. 3@ A favmitd Fom warw s ¢

Hawan o,

. EE A A W (A 3 5w

4. = EnEn el e (z) T 5= we

(1) wO A AEE AR (2 FAE W T T
(3) =TT I A (4) I sw T

Which of the following two statements is incorreef 7

In the Ledger Account,

a, the Dehit side of particulars starts with the word “By'.

b.  the Credit side of particulars starts with the word “Ta",

{1) Only a is incorrect (2} Only b is ineorrect

{3) Both a and b are incorrect i4) Neither a nor b is incorrect
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el A 2 iR S Ak 2

¥, TN e hra s ame ol gE STERTET 39,

= wEm s e o,

(1) w9 3 I 3T (2) W 9 R

(3) w9« Il dim ama (4) ¥ 3« I AEE

Which of the two statements given below is correct ?

a.  Depreciation is charged even if market value of the assets has inereased during
the year,

b.  Depreciation 18 not a source of funds.
(1}  Only a is correct (2) Only b is correct
(3) Both a and b are correct (4) Neither a nor b is correct

187.

A (deri ) FE @R e 0

(1) aeafys (gefa) @@ 3 T am

(2} dufrs @w 3 T =59

(3) et (ge) @ g dofes aw

{4} awafas (Fufw) @, dofes @d 9 T e

¥Which Accounts appear in the Balanee Sheet 7

{1} HReal Accounts and Nominal Aceounts

{2} Personal Accounts and Nominal Accounts

{3} Real Accounts and Personal Accounts

{4} Real Accounts, Personal Accounts and Nominal Accounts

188.

e 2 P W fram de sk 7

.,  OiEEdEiE TR A% 9 4 W 6 g,

4, 9t wiie = (gl alE) a6 g A e 9w,

(1) @ ¥ O W (2} e o A TR

(3} = 3% 9 swa (4} 3995+ 9 aE

Which of the following two statements is correct 7

a.  Interest on eapital is eredited to Profit and Loss Account.

b.  Interest on drawing is debited to Profit and Loss Account.

(1} Only a is correct {2} Omly b is correct

{3) Both a and b are correct {4} Neither a nor b is correct
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189, g 9 fumid S feug e a2
A T W U (W) T e A

A,
.

(1)
i2)
(3
4)

w4 A (wEETEn) ZadEdt T Gvre aTE W,

ot i et ot g (Rrfi ) el A v e W@,
e A WA AT

o § EEL TR

379 § S FE A

ForE faum Wt 8

Which of the following two statements is correct 7
General Journal which is also called as Journal Proper

a.
b,
(1)
(2)
(3
(4)

is meant for recording all the major transactions.

is meant for recording transactions that do not occur frequently.
Only a is correct

Only b is correct

Both a and b are correct

Meither a nor b is corract

190, el Rt Fm o T s

(1)

(2)
(3
()

qEAtE (He) e aflEn w9 gEr (R ) e 3 9 W
(v afg =) wer B

Ayl wTETS T g E s W B
=fira wreary Fitwm doffs 7 5w (Fow oy Rl aem .
it Fad A

Which of the following statements is correct 7

(1)

(2

(3)
4)

Heal Accounts are classified into Expenses and Losses Alc and Incomes and
Gains Ale.

Nominal Accounts are classified as Tangible and Intangible Afe,
Peraonal Accounts are classified as Natural Ale and Artificial Afe.
None of the above
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EE
FH fifre s
¥, sffE sl = wE
=, A e T
® o= w

n 1 I 111
2y 1l It 1
3y 1 11 I
4} III I i}

Match the list
Group A
a. Central Sales Tax Act

&7

¥
I 1899
II. 1857
1. 1956

b,  Additional Duties of Excise Act

[ Indian Stampes Act

a b c
) 1 il | 111
{2} III 11 |
@ 1 10 1L
{4} III I 11

Group B
I 1899
I1. 1957
1L 1956

192, =5 a0 @9 = (GST) = g =@ 7

(1) ¥ anf Farmndt v W
{2) = I EaEE S

(3 WemE =

(4) et FromE T

What does GST suggest ?

(1) A single tax for goods and servicea
(2)  Different taxes for goods and services

(3) Direct Tax
(4) MNone of the above
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193. Fritor=n Hevia wee e femm e
A S Y s e,
7. sfifs arfaie fey caream St w0
F.  FECET FEHA AT,
Fire faummtd st R ste sma 7
i1y A (2) e w
3) wTEINEY 4y FTRETITH
In connection with liberalisation, eonsider the following :
a. Removal of trade barriers.
b.  Progressive elimination of control by State over economic activities.
e.  Striet implementation of laws
Which of the statements given above iafare correct 7
{1} aonly {2} bonly
(3} aandbonly {41 band ¢ only
194. TR Yo T i e
E e
W T U0
®,  wHgEEAd
(1) w5 anfn = (2) v & 7 %
{3) w W R 4) = wd

A policy of privatisation leads to

a.  Denationalisation

b, Joint ventures

¢.  Lignidation

(1) aandbonly (2) bandconly
(%) aandeonly 4y All the above

ZOEIT FHIETE! WA | SPACE FOR ROUGH WORK



A 69 205

195. &, il GUEVIHGL FH S 908 A Al JE.
5, iy S T R e Rl eURATST S 2% TEE A

(1} #1993 o o757 9§ 9 5 FA0 A

(2) % 39 3R wirer o & ® 3 F HmOw ame

(3) W@« vwAHE wEy A

4) ¥ a9 g% ae

a.  Agricultural prowth has stagnated after economic reforms.
b, Investment in agriculture sector was 2-8% of GDP.

(1) Both a and b are correct and a is a reason of b

(2) Both a and b are correct and b is a reason of a

(3} aand b are not related to each other

(4) Both a and b are incorrect

196, . sunfT oavE S (TRIMs) frdell deavsanin o o= 23
4. =TT [EETE 99 (TRIMs) 9 228 5 samfs=er=n o=y s g,
(1) W 3 T 3R
(2) e & a0E w0
(3 e faaE e S
(4) TFE AR 9% e
8. Trade Related Investrment Measures (TRIMs) give national treatment for
foreign investors,

b. Trade Related Investment Measures (TRIMs) include patents and trademarks
for protection.

(1} a2 only is correct

(2} b only is correct

(3 Both the statements are correct
(4} Both the statements are incorrect
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¥, Wigad 9 O g FEE FEEi

a.  EWEmEE ged i weEeEe .

(1) wed @ wirEw ok
(2) o = T AR
(3) o 3% = sitE A
{(4) ¥ a7 I TF T

Globalization results in
a. faster movements of capital and finance.
b, growing economic interdependence among nations.

{1} 2 only is correct

{2} b only is correct

{3} Both a and b are correct
{4} Both a and b are ineorreet

198. ¥9 1991 To FiE FEnd s gunui gEam Sell AR Sgerare S i 7

(1) =l
(2) =i wwes fim
(8) ¥fm e
(41 Tl it

Economic Reforms in India were introduced in 1991 by the Congress Government led
by

1) P.V. Narasimha Rao
{2} Dr. Manmohan Singh
{3) Indira Gandhi

{4) Rajiv Gandhi
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o L T B ke Sy e N e i /8 eghoginilenl

7
2000 Hrer=a W Fdiaas e 38

¥, 39 T Ui guem.

w, g e R

w, e e andE S,

afteltht R e S s

(1) e 3 (2) T 3 A"

(3 wEE W o= 4) =, 8w

The National Agricultural Policy 2000, aims at achieving

a. food and nutritional security.

b.  sustainable agricultural growth.

¢ encouragement to production of cash crops.

Which of the above isfare correct ?

(1} aonly (2}  aand bonly

(3} aandeonly {4) a, bandc

205

200.

MFN 7% @ arTEF ot

(1) = i S a

(2) T W A

(8) wiez Fard q9 w

(4) W FegEe A T

MFN treatment means

(1} Money From Nation Principle
(2)  Money For Nation Principle

{3y  Most Favoured Nation Principle

{4} More Favourable Nature Principle
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